HE :2024.5.22 18:33
5 HE [=/XK&]
BEAEAE H B :20244F05 H 22 H (k)
o2 R¥ 0.5 RN T CHEME18.0 AcfE18.0 FLA—/: OUT1 3 4 7 8 9
IN10 11 12 15 16 18
RS WIREA YT Z2aF7THw ko %— 3
= —2  :0UT IN 2PN~ D HMS2 N SN AEFI0AN
NENIRE T A by
NAAZ | 2 K4 OUT | IN |GROSS| HDCP | NET |cnossuii eSS NGAL | 2N K4 OUT | IN |GROSS| HDCP | NET |arossii {5

1R H A 42 420 7.2 134.8 51| KM THFN 45 45 7.2 137.8
2R E 40 40| 4.8 |35.2 52| )11 = 44 44| 6.0 |38.0

3|BH kst 39 39| 3.6 |35.4 53| AFT BT 44 44| 6.0 |38.0
4R B % 39 39| 3.6 |35.4 54| +H 1EHE 43 43| 4.8 |38.2
bl B2 45 45/ 9.6 |35.4 b5 |RE FEME 43 43| 4.8 |38.2
6iEE tH 38 38| 2.4 [35.6 56| #EE 49 49/ 10.8 |38.2
TR FHR 38 38| 2.4 |35.6 577 H ¢ 49 49/ 10.8 |38.2
8| IE— 38 38| 2.4 |35.6 58| FEIA 42 42| 3.6 |38.4
N 38 38/ 2.4 |35.6 59 81 <F 42 42| 3.6 |38.4
10 KR &R 44 44| 8.4 |35.6 60| F 1L FEHE 48 48] 9.6 [38.4
11|¥T7T FlBh 43 43| 7.2 |35.8 61141 STHE 42 42| 3.6 [38.4
12580 = 43 43| 7.2 |35.8 62| B[ EE & 41 41] 2.4 |38.6
130A)1 =8 43 43| 7.2 |35.8 63| 2 K[ BT 40 40| 1.2 |38.8
14| BRI SCR 49 49/ 13.2 |35.8 644 E i 46 46| 7.2 |38.8
15 IESF &= 42 42] 6.0 |36.0 65| O Bk 52 52/ 13.2 |38.8
16 KH 1S 41 41] 4.8 |36.2 66 i A R 45 45/ 6.0 |39.0
17/4)11 fn% 41 41] 4.8 |36.2 67| 1LY 58 45 45/ 6.0 139.0
18| L] HE& 41 41] 4.8 |36.2 68| &N Ik 44 44| 4.8 |39.2
1952 HJIT Zh 41 41| 4.8 |36.2 69| k- FEH 50 50/ 10.8 |39.2
20 | Kk fdtvk 41 41| 4.8 |36.2 0| %F = 43 43| 3.6 [39.4
21|EH FHH3 41 41] 4.8 |36.2 713N RE 43 43| 3.6 |39.4
22 A 2 A 47 47/10.8 |36.2 72| Bl EET 49 49| 9.6 [39.4
23k V= 40 40| 3.6 |36.4 73 AR 48 48| 8.4 [39.6
24 |#EE KB 40 40| 3.6 |36.4 T4BE E% 48 48| 8.4 [39.6
25| &+ T 40 40/ 3.6 |36.4 75| %5 B 48 48| 8.4 [39.6
26| HK FEHEH 39 39| 2.4 [36.6 6| HE 47 47 7.2 139.8
27 |99 &R 39 39| 2.4 |36.6 T H— 46 46/ 6.0 140.0
28 FAEE FERE 39 39| 2.4 |36.6 8|5 H)Il Fn % 46 46 6.0 |140.0
29 &2 1 Rk 45 45| 8.4 |36.6 9| HAT EET 51 51/ 10.8 |40.2
30 HH B 45 45| 8.4 |36.6 80| EAk HESE 45 45| 4.8 40.2
31|/ IKFE bk 38 38/ 1.2 |36.8 81| & H @R 50 50/ 9.6 |40.4
321/NE Fn 44 44| 7.2 ]36.8 82/h=E EK 43 43| 2.4 [40.6
33| HER 44 44| 7.2 136.8 83| LR 7 55 55| 14.4 | 40.6
34|%E F 44 44 7.2 |36.8 84|/ Ak 42 42 1.2 140.8
35/ H il 44 44 7.2 |36.8 85| ki — 48 48| 7.2 140.8
36 R R 50 50| 13.2 | 36.8 86| 1 i AL T 48 48] 7.2 140.8
37| HEAR ER 43 43| 6.0 |37.0 87| FXR 48 48| 7.2 140.8
38| = H FME 43 43| 6.0 [37.0 88| miAS MK 46 46| 4.8 [41.2
39|k A 43 43| 6.0 |37.0 89 A BT 58 58| 16.8 |41.2
40 HO R 49 49/ 12.0 |37.0 90 B &1 60 60| 15.6 |44.4
41 |58 5LE 42 42| 4.8 |37.2
42 |HiE =B 42 42| 4.8 [37.2
43 | FRIE 42 42| 4.8 |37.2
44 | B BRER 42 42| 4.8 |37.2
45 ¥ H B 42 42| 4.8 37.2
46 )14+ A 41 41| 3.6 [37.4
47| FR%E T 47 47] 9.6 [37.4
4870 FRF 47 47| 9.6 |37.4
49| 1 46 46| 8.4 |37.6
50 =Ry & 46 46| 8.4 |37.6

1/ 1 HENMERAETILE SR




